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Activity 5: Default Prevention

Low Default Rate Example:

School A has a low cohort default rate and would like to initiate a Late Stage Delinquency Assistance effort. What items does the school need to evaluate to make a decision to go forward?

The school has a low default rate. However, this is not the whole story. The school has 212 borrowers who are 180 days or more delinquent. Those borrowers have an average loan amount of $12,500. 

Let’s consider the potential dollars at risk? Your potential dollars at risk may amaze you. Employing Late Stage Delinquency at your school will help many of your former students avoid loan default and it is a key to preserving the integrity of the loan programs. 

Example:

How many borrower accounts are more than 180 days past due?      
The average loan amount of the borrowers who are more than 180 days past due is $     
(borrowers more than 180 days delinquent) X (average loan amount) = Potential $$$ at risk 

ANSWER KEY

212 X $12,500 = $2,650,000 POTENTIAL DOLLARS AT RISK for the 212 borrowers who are 180 days or more delinquent.

In Example A we demonstrate that employing a Late Stage Delinquency process is a valuable activity. Even schools with low cohort default rates will benefit from utilizing Late Stage Delinquency Assistance techniques. 

High Default Rate Example:

School B, a non degree-granting school, had 90 borrowers enter repayment in the cohort fiscal year (denominator). Of those borrowers, 15 of them defaulted in the cohort default period (numerator). 

School B’s cohort default rate is calculated by dividing 15 by 90 (15 ÷ 90 = 0.166) and expressing the result (0.166) as a percentage. This produces a non-average cohort default rate of 16.6 percent (0.1666 x 100 = 16.6). This is higher than the National Cohort Default Rate!

Question:

If School B had implemented a Late State Delinquency program and prevented 7 borrowers from defaulting, what would the school’s cohort default rate have been?

ANSWER KEY

The Cohort default rate is calculated by dividing 8 (15 minus the 7 borrowers kept from defaulting) by 90 (8 ÷ 90 = 0.088) Expressing the result (0.088) as a percentage produces a non-average cohort default rate of 8.8 percent (0.088x 100 = 8.8). 

In Example B we demonstrated that a school can employ a Late Stage Delinquency Assistance process, and with a small investment in time, the school can help its former students and the institution, by significantly reducing the school’s cohort default rate. 
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